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Physics 121 Quiz #1, January 8§, 2016

Please show all work, thoughts and/or reasoning in order to receive partial credit. The quiz is
worth 10 points total.

1 affirm that I have carried out my academic endeavors with full academic honesty.

Suppose that you have two point charges where charge g, = 1nC is located at <0.5,—0.1,—0.5>m and
another charge g, =—9nC is located at <—O.6,—0.7,—0.2>m

1. What is the electric force on g, due to g, ?
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2. What is the electric field at charge g,'s location due to charge g, ?

The electric field is given by:
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3. Ifthe charge g, were released from rest at its initial location, the direction of g,'s acceleration
would most likely be
‘ dlrectly toward the charge ¢, .
directly away from the charge g, .
c. not defined since the magnitude of g,'s acceleration is zero and thus charge g, would remain

at rest.
d. unable to be determined since the mass of g, is unknown.
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